

Ljubomir B. Ćirić

On a generalization of a Greguš fixed point theorem

Czechoslovak Mathematical Journal, Vol. 50 (2000), No. 3, 449–458

Persistent URL: <http://dml.cz/dmlcz/127584>

Terms of use:

© Institute of Mathematics AS CR, 2000

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://dml.cz>

ON A GENERALIZATION OF A GREGUŠ FIXED POINT THEOREM

LJUBOMIR ČIRIĆ, Belgrade

(Received October 21, 1996)

Abstract. Let C be a closed convex subset of a complete convex metric space X . In this paper a class of selfmappings on C , which satisfy the nonexpansive type condition (2) below, is introduced and investigated. The main result is that such mappings have a unique fixed point.

Keywords: convex metric space, nonexpansive type mapping, fixed point

MSC 2000: 47H10, 54H25

1. INTRODUCTION

Let X be a Banach space and C a closed convex subset of X . Recently, Greguš proved the following result.

Theorem 1. (Greguš [7]). *Let $T: C \rightarrow C$ be a mapping satisfying*

$$(1) \quad \|Tx - Ty\| \leq a\|x - y\| + p\|Tx - x\| + p\|Ty - y\|$$

for all $x, y \in C$, where $0 < a < 1$, $p \geq 1$ and $a + 2p = 1$. Then T has a unique fixed point.

In recent years, many theorems which are closely related to Greguš's Theorem have appeared ([1]–[9]).

The purpose of this paper is to define and to investigate a class of mappings (not necessarily continuous) which are defined on metric spaces and satisfy the following contractive condition:

$$(2) \quad \begin{aligned} d(Tx, Ty) \leq & a \max\{d(x, y), c[d(x, Ty) + d(y, Tx)]\} \\ & + b \max\{d(x, Tx), d(y, Ty)\} \end{aligned}$$

where

$$0 < a < 1, \quad a + b = 1, \quad c \leq \frac{4 - a}{8 - a}.$$

We shall prove a fixed point theorem which is a double generalization of the above theorem of Greguš. Firstly, the nonexpansive nature of the mapping is generalized, and secondly, the underlying space is more general than Banach spaces. An example is constructed to show that our theorem is a genuine generalization of the theorems of Greguš [7] and Li [8].

We recall the following definition of the convex metric space.

Definition 2. (Takahashi [10]) Let X be a metric space and $I = [0, 1]$ the closed unit interval. A continuous mapping $W: X \times X \times I \rightarrow X$ is said to be a convex structure on X if for all $x, y \in X$ and $\lambda \in I$, $d[u, W(x, y, \lambda)] \leq \lambda d(u, x) + (1 - \lambda)d(u, y)$ for all $u \in X$. X together with a convex structure is called a convex metric space. A subset $K \subseteq X$ is convex, if $W(x, y, \lambda) \in K$ whenever $x, y \in K$ and $\lambda \in I$.

Clearly a Banach space, or any convex subset of it, is a convex metric space with $W(x, y, \lambda) = \lambda x + (1 - \lambda)y$.

2. MAIN RESULT

Now we are in position to state our main result.

Theorem 3. *Let C be a closed convex subset of a complete convex metric space X and $T: C \rightarrow C$ a mapping satisfying (2) for all $x, y \in C$. Then T has a unique fixed point.*

Proof. Let $x \in C$ be arbitrary and let $\{x_n\}$ be the sequence defined by

$$x_0 = x, \quad x_{n+1} = Tx_n \quad (n = 0, 1, 2, \dots).$$

From (2) we have

$$\begin{aligned} d(x_{n+1}, x_{n+2}) &= d(Tx_n, Tx_{n+1}) \\ &\leq a \max\{d(x_n, x_{n+1}), c[d(x_n, x_{n+2}) + 0]\} + b \max\{d(x_n, x_{n+1}), d(x_{n+1}, x_{n+2})\} \\ &\leq a \max\{d(x_n, x_{n+1}), c[d(x_n, x_{n+1}) + d(x_{n+1}, x_{n+2})]\} \\ &\quad + b \max\{d(x_n, x_{n+1}), d(x_{n+1}, x_{n+2})\}. \end{aligned}$$

If we suppose that $d(x_{n+1}, x_{n+2}) > d(x_n, x_{n+1})$ then we obtain

$$d(x_{n+1}, x_{n+2}) < ad(x_{n+1}, x_{n+2}) + bd(x_{n+1}, x_{n+2}) = (a + b)d(x_{n+1}, x_{n+2}),$$

which is a contradiction since $a + b = 1$. Therefore

$$(3) \quad d(x_{n+1}, x_{n+2}) \leq d(x_n, x_{n+1}) \leq \dots \leq d(x, Tx).$$

Using (2), (3) and the triangle inequality we get

$$(4) \quad d(Tx_n, T^3x_n) \leq a \max\{d(Tx_{n-1}, T^3x_{n-1}), c[d(Tx_n, T^3x_n) + 2d(x, Tx)]\} \\ + b d(x, Tx).$$

We shall show that for some $k \in \mathbb{N}$

$$(5) \quad d(Tx_k, T^3x_k) \leq \left(1 + \frac{2a(2-a)}{8-5a+a^2}\right) d(x, Tx).$$

Assume first that for some $n = k$ we have from (4)

$$(6) \quad d(Tx_k, T^3x_k) \leq ac[d(Tx_k, T^3x_k) + 2d(x, Tx)] + bd(x, Tx).$$

Then we get

$$d(Tx_k, T^3x_k) \leq \frac{1-a+2ac}{1-ac} d(x, Tx).$$

Since $0 < a < 1$ and $0 \leq c \leq \frac{4-a}{8-a}$, it follows that

$$\frac{1-a+2ac}{1-ac} \leq \frac{8-a-a^2}{8-5a+a^2} = 1 + \frac{2a(2-a)}{8-5a+a^2}.$$

So (5) holds.

If we suppose that (6) does not follow from (4) for any n , then we have

$$d(Tx_n, T^3x_n) \leq ad(Tx_{n-1}, T^3x_{n-1}) + bd(x, Tx).$$

By induction we obtain

$$(7) \quad d(Tx_n, T^3x_n) \leq a[ad(Tx_{n-2}, T^3x_{n-2}) + bd(x, Tx)] + bd(x, Tx) \\ \leq \dots \leq a^n d(Tx_0, T^3x_0) + b(1+a+a^2+\dots)d(x, Tx) \\ \leq 2a^n d(x, Tx) + b \frac{1}{1-a} d(x, Tx) = (2a^n + 1)d(x, Tx),$$

where we have used that $b = 1 - a$. Since $0 < a < 1$ we can choose n such that

$$2a^n \leq \frac{2a(2-a)}{8-5a+a^2}.$$

Then we see from (7) that for such $k = n$ the inequality (5) holds. So we have shown (5).

Let k be such that (5) holds and put $y = x_k$. Then

$$(8) \quad d(Ty, T^3y) \leq (1+q)d(x, Tx); \quad q = \frac{2a(2-a)}{8-5a-a^2}.$$

Since C is convex, by Definition 2 the element $W(T^2y, T^3y, \frac{1}{2}) = z$ is in C . Then, using Definition 2, (3) and (8) we have

$$(9) \quad \begin{aligned} d(z, T^2y) &\leq \frac{1}{2}d(T^2y, T^3y) \leq \frac{1}{2}d(x, Tx), \\ d(z, T^3y) &\leq \frac{1}{2}d(T^2y, T^3y) \leq \frac{1}{2}d(x, Tx), \\ d(z, Ty) &\leq \frac{1}{2}[d(Ty, T^2y) + d(Ty, T^3y)] \leq \left(1 + \frac{q}{2}\right)d(x, Tx), \end{aligned}$$

$$(10) \quad d(z, Tz) \leq \frac{1}{2}[d(Tz, T^2y) + d(Tz, T^3y)].$$

Now we show that

$$(11) \quad d(z, Tz) \leq \left(1 - \frac{a^3(1-a)}{64}\right)d(x, Tx).$$

Set

$$(12) \quad M = M(x, z) = \max\{d(x, Tx), d(z, Tz)\}$$

and suppose $M > 0$. Then (2), (3) and (9) imply

$$(13) \quad d(Tz, T^3y) \leq a \max \left\{ \frac{1}{2}M, c \left[\frac{1}{2}M + d(Tz, T^2y) \right] \right\} + bM,$$

$$(14) \quad d(Tz, T^2y) \leq a \max \left\{ \left(1 + \frac{q}{2}\right)M, c \left[\frac{1}{2}M + d(Tz, Ty) \right] \right\} + bM.$$

Consider now four possible cases.

Case I. Assume that we have from (13)

$$(15) \quad d(Tz, T^3y) \leq \frac{1}{2}aM + bM = \left(1 - \frac{a}{2}\right)M$$

and from (14)

$$(16) \quad d(Tz, T^2y) \leq a \left(1 + \frac{q}{2}\right)M + bM = \left(1 + \frac{aq}{2}\right)M.$$

Then by (8), (10), (15) and (16) we get

$$(17) \quad d(z, Tz) \leq \frac{1}{2} \left[2 - \frac{a}{2} (1 - q) \right] M \leq \left(1 - \frac{a}{4} \cdot \frac{8 - 9a + 3a^2}{8 - 5a + a^2} \right) M \leq \left(1 - \frac{a}{8} \right) M.$$

Since $(1 - \frac{a}{8}) < 1 - \frac{a^3(1-a)}{64} < 1$ and M is defined by (12), we conclude that (17) implies (11).

Case II. Assume now that (13) implies (15) and (14) implies the inequality

$$d(Tz, T^2y) \leq ac \left[\frac{1}{2} M + d(Tz, Ty) \right] + bM.$$

Using the triangle inequality and (8) we get

$$d(Tz, Ty) \leq d(Tz, T^3y) + d(T^3y, Ty) \leq d(Tz, T^3y) + (1 + q)M.$$

So we have

$$(18) \quad d(Tz, T^2y) \leq ac \left[\left(\frac{3}{2} + q \right) M + d(Tz, T^3y) \right] + bM.$$

Since $c < \frac{1}{2}$ and $q < \frac{1}{2}$ (see (8)), we have $ac(\frac{3}{2} + q) < a$ and so by (15) and (18)

$$(19) \quad d(Tz, T^2y) < \left[a + \frac{a}{2} \left(1 - \frac{a}{2} \right) + b \right] M = \left[1 + \frac{a}{2} \left(1 - \frac{a}{2} \right) \right] M.$$

Now from (10), (15) and (19) we get

$$d(z, Tz) \leq \frac{1}{2} \left(1 - \frac{a}{2} + 1 + \frac{a}{2} - \frac{a^2}{4} \right) M = \left(1 - \frac{a^2}{8} \right) M < \left[1 - \frac{a^3(1-a)}{64} \right] M.$$

Hence we conclude that (11) holds.

Case III. Assume now that (13) implies

$$(20) \quad d(Tz, T^3y) \leq ac \left[\frac{1}{2} M + d(Tz, T^2y) \right] + bM$$

and that (16) holds. Then (10), (16) and (20) imply

$$(21) \quad d(z, Tz) \leq \frac{1}{2} \left[1 + \frac{aq}{2} + ac \left(\frac{1}{2} + 1 + \frac{aq}{2} \right) + 1 - a \right] M.$$

Since

$$aq < q = \frac{2a(2-a)}{8-5a+a^2} < \frac{4+a^2}{2(6-a)}; \quad c \leq \frac{4-a}{8-a},$$

from (21) we get

$$\begin{aligned} d(z, Tz) &< \frac{1}{4} \left[4 - 2a + aq + a(3+q) \frac{4-a}{8-a} \right] M = \frac{1}{4} \left[4 + a \frac{-4-a}{8-a} + \frac{aq(12-2a)}{8-a} \right] M \\ &< \frac{1}{4} \left[4 + a \frac{-4-a}{8-a} + a \frac{4+a^2}{2(6-a)} \cdot \frac{12-2a}{8-a} \right] M \\ &= \left[1 - \frac{a^2(1-a)}{4(8-a)} \right] M < \left[1 - \frac{a^3(1-a)}{64} \right] M. \end{aligned}$$

Hence, and using (12), we conclude that (11) holds.

Case IV. Assume now that (13) implies (18) and (14) implies (20). Adding (18) and (20) we obtain

$$d(Tz, T^2y) + d(Tz, T^3y) \leq ac[(2+q)M + d(Tz, T^2y) + d(Tz, T^3y)] + 2bM$$

and hence

$$d(Tz, T^2y) + d(Tz, T^3y) \leq \frac{ac(2+q) + 2(1-a)}{1-ac} M.$$

Now from (10)

$$(22) \quad d(z, Tz) \leq \frac{ac(1 + \frac{q}{2}) + 1 - a}{1 - ac} M.$$

Since

$$q = \frac{2a(2-a)}{8-5a+a^2} < \frac{2a(1-\frac{a}{8})}{4-a}; \quad c \leq \frac{4-a}{8-a},$$

from (22) we have

$$\begin{aligned} d(z, Tz) &< \frac{1}{1-ac} \left[ac \left(1 + \frac{a(1-\frac{a}{8})}{4-a} \right) + 1 - a \right] M \\ &\leq \frac{8-a}{8-5a+a^2} \cdot \frac{a(4-\frac{a^2}{8}) + 8-9a+a^2}{8-a} M \\ &= \frac{8-5a+a^2-\frac{a^3}{8}}{8-5a+a^2} M = \left[1 - \frac{a^3}{8(8-5a+a^2)} \right] M. \end{aligned}$$

Hence, as

$$-\frac{a^3}{8(8-5a+a^2)} < -\frac{a^3}{8 \cdot 8} < -\frac{a^3(1-a)}{64},$$

we obtain (11). Therefore, (11) holds in each case.

Since for any $x \in C$ there exists $z = z(x)$ such that (11) holds, we have

$$(23) \quad \inf\{d(x, Tx) : x \in C\} = 0.$$

Now we show that

$$(24) \quad \max\{d(Tx, Ty), d(x, y)\} \leq \frac{3-a}{1-a} \max\{d(x, Tx), d(y, Ty)\}.$$

Let $R = R(x, y) = \max\{d(x, Tx), d(y, Ty)\}$. Then (2) and the triangle inequality yield

$$\begin{aligned} d(Tx, Ty) &\leq a \max\{[d(x, Tx) + d(Tx, Ty) + d(y, Ty)], \\ &\quad c[d(x, Tx) + 2d(Tx, Ty) + d(y, Ty)]\} + bR \\ &\leq (2a + b)R + ad(Tx, Ty) = (1 + a)R + ad(Tx, Ty). \end{aligned}$$

Hence

$$(25) \quad d(Tx, Ty) \leq \frac{1+a}{1-a}R.$$

Then we have

$$(26) \quad d(x, y) \leq d(x, Tx) + d(Tx, Ty) + d(y, Ty) \leq 2R + \frac{1+a}{1-a}R.$$

From (25) and (26) we get (24).

Now by (23) we can choose a sequence $\{x_n\}$ in C such that

$$d(x_n, Tx_n) \leq \frac{1}{n} \quad (n = 1, 2, \dots).$$

From (24) we have

$$\max\{d(Tx_n, Tx_m), d(x_n, x_m)\} \leq \frac{3-a}{1-a} \cdot \frac{1}{n} \quad \text{for } 1 \leq n \leq m.$$

Therefore, both $\{x_n\}$ and $\{Tx_n\}$ are Cauchy sequences, and moreover they have a common limit, say $u \in C$. From (2) we obtain

$$\begin{aligned} d(Tx_n, Tu) &\leq a \max\{d(x_n, u), c[d(x_n, Tu) + d(u, Tx_n)]\} \\ &\quad + b \max\{d(x_n, Tx_n), d(u, Tu)\}. \end{aligned}$$

Taking the limit when n tends to infinity we get

$$d(u, Tu) \leq (ac + b)d(u, Tu) = [1 - a(1 - c)]d(u, Tu)$$

Hence $d(u, Tu) = 0$, since $1 - a(1 - c) < 1$. So we have proved that u is a fixed point of T . The uniqueness of the fixed point follows from (2). \square

Remark. If $c = 0$ then Theorem 3 reduces to the theorem of Fisher [5]. Such result also appears as a corollary of the corresponding fixed point theorems in [1], [4], [6] and [9].

Theorem 4. Let C be as in Theorem 3 and let $T: C \rightarrow C$ be a mapping satisfying

$$(27) \quad d(Tx, Ty) \leq ad(x, y) + b \max\{d(x, Tx), d(y, Ty)\} + c[d(x, Ty) + d(y, Tx)]$$

for all $x, y \in C$, where

$$(28) \quad 0 \leq a < 1, \quad b \geq 0, \quad c \geq 0, \quad a + c > 0$$

and

$$(29) \quad a + b + \frac{7}{3}c = 1.$$

Then T has a unique fixed point.

Proof. Set $a + \frac{7}{3}c = a_1$. Then $a_1 + b = 1$ and we have

$$\begin{aligned} & ad(x, y) + b \max\{d(x, Tx), d(y, Ty)\} + c \frac{7}{3} \cdot \frac{3}{7} \cdot [d(x, Ty) + d(y, Tx)] \\ & \leq \left(a + \frac{7}{3}c\right) \max\left\{d(x, y), \frac{3}{7}[d(x, Ty) + d(y, Tx)]\right\} + b \max\{d(x, Tx), d(y, Ty)\} \\ & = a_1 \max\left\{d(x, y), \frac{3}{7}[d(x, Ty) + d(y, Tx)]\right\} + b \max\{d(x, Tx), d(y, Ty)\}. \end{aligned}$$

Since $\frac{3}{7} < \frac{4-a}{8-a}$ we see that (27), (28), (29) imply (2) with $a_1 + b = 1$. Therefore, we can apply Theorem 3 in the case $a > 0$.

If $a = 0$, then $a + c > 0$ implies $c > 0$ and then (29) implies

$$0 < b + 2c = 1 - \frac{1}{3}c < 1.$$

So Theorem 4 in the case $a = 0$ reduces to a special case of the Theorem 1 of [2]. \square

Corollary 5. (Li [8]) Let C be a closed convex subset of a convex metric space X and let $T: C \rightarrow C$ be a mapping satisfying

$$(30) \quad d(Tx, Ty) \leq ad(x, y) + b[d(x, Tx) + d(y, Ty)] + c[d(x, Ty) + d(y, Tx)]$$

for all $x, y \in C$, where $0 \leq a < 1$, $b \geq 0$, $c \geq 0$, $a + c > 0$ and

$$(31) \quad a + 2b + 3c \leq 1.$$

If X has the property that every sequence of non-empty closed convex subsets of X with diameters tending to zero has non-empty intersection, then T has a unique fixed point in C .

Proof. It is clear that the inequalities (27) and (28) are more general than the corresponding inequalities (30) and (31). Since the property of X stated in Corollary 5 is equivalent to the completeness of X , we see that all assumptions of Theorem 4 are satisfied. \square

The following simple example shows that our Theorems 3 and 4 are genuine generalizations of the theorems of Greguš [7] and Li [8].

Example. Let $C = [-3, 5]$ be the subset of real numbers, and let $T: C \rightarrow C$ be a mapping defined by

$$Tx = \frac{x}{7} \quad \text{if } -2 \leq x \leq 5; \quad Tx = 5 \quad \text{if } -3 \leq x < -2.$$

It is clear that if $x, y \in [-3, -2)$ or $x, y \in [-2, 5]$, then $d(Tx, Ty) \leq \frac{1}{7}d(x, y)$. Let now $x \in [-2, 5]$ and $y \in [-3, -2)$. Then we have

$$d(Tx, Ty) \leq 5 + \frac{2}{7} < \frac{6}{7} \cdot 7 \leq \frac{6}{7}d(y, Ty) = \frac{6}{7} \max\{d(x, Tx), d(y, Ty)\}.$$

Therefore T satisfies the condition (27) with $a = \frac{1}{7}$, $b = \frac{6}{7}$ and $c = 0$, and condition (2) with $a = \frac{1}{7}$, $b = \frac{6}{7}$ and any $0 \leq c \leq \frac{27}{55}$. Since C is compact, all hypotheses of Theorems 3 and 4 are satisfied and $u = 0$ is the unique fixed point of T . On the other hand, T does not satisfy (30) with $a + 2b + 3c \leq 1$, and hence the contractive condition of Greguš, since for all $x \in [-1, 0]$ and $y \in [-3, -2)$ we have

$$\begin{aligned} & ad(x, y) + b \left[d(x, Tx) + d(y, Ty) \right] + c \left[d(x, Ty) + d(y, Tx) \right] \\ & \leq (a + 2b + 3c) \max \left\{ d(x, y), \frac{1}{2} \left[d(x, Tx) + d(y, Ty) \right], \frac{1}{3} \left[d(x, Ty) + d(y, Tx) \right] \right\} \\ & \leq \max \left\{ 3, \frac{1}{2} \left(\frac{6}{7} + 8 \right), \frac{1}{3} (6 + 3) \right\} = 5 - \frac{4}{7} < 5 \leq d(Tx, Ty) \end{aligned}$$

for any $a, b, c \geq 0$ with $a + 2b + 3c \leq 1$.

References

- [1] *LJ. B. Ćirić*: On some discontinuous fixed point mappings in convex metric spaces. *Czechoslovak Math. J.* 43(118) (1993), 319–326.
- [2] *LJ. B. Ćirić*: A generalization of Banach's contraction principle. *Proc. Amer. Math. Soc.* 45 (1974), 267–273.
- [3] *LJ. B. Ćirić*: On a common fixed point theorem of a Greguš type. *Publ. Inst. Math (Beograd)* (49)63 (1991), 174–178.
- [4] *M. L. Diviccaro, B. Fisher, S. Sessa*: A common fixed point theorem of Greguš type. *Publ. Math. Debrecen* 34 (1987), 83–89.
- [5] *B. Fisher*: Common fixed points on a Banach space. *Chung Yuan J.* 11 (1982), 19–26.

- [6] *B. Fisher, S. Sessa*: On a fixed point theorem of Greguš. *Internat. J. Math. Math. Sci.* 9 (1986), no. 1, 23–28.
- [7] *M. Greguš*: A fixed point theorem in Banach space. *Boll. Un. Mat. Ital. A* 5 (1980), 193–198.
- [8] *B. Y. Li*: Fixed point theorems of nonexpansive mappings in convex metric spaces. *Appl. Math. Mech. (English Ed.)* 10 (1989), 183–188.
- [9] *R. N. Mukherjea, V. Verma*: A note on a fixed point theorem of Greguš. *Math. Japon.* 33 (1988), 745–749.
- [10] *W. Takahashi*: A convexity in metric space and nonexpansive mappings I. *Kodai Math. Sem. Rep.* 22 (1970), 142–149.

Author's address: Faculty of Mechanical Engineering, Belgrade, Yugoslavia.